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Talk to your Guidance Counselor TODAY to sign up for
A Computer Science Principles Class Next Year!

Introductory Class
No Computer Science
experience necessary

AP Computer ¥ CollegeBoard
Science Principles
Creative Thinkers Wanted

Prerequisite: Algebra |

Students do not need to have prior
knowledge of any programming language.

https://www.youtube.com/watch?v=jQm0z894CG0

Jan 23-7:26 PM

Today: Do Review #1 today at end of notes packet. Test tomorrow.
Extra Review #2 also at end of notes packet. Keys online.
There's also a Castle Learning Unit 8 Review available.

HOMEWORK 8-9

6. 2700; A person's lung can hold
a maximum of 2700mL of air.

7. 1 8.

1
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S

Feb 6-7:07 PM
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Name: XA t\/ Algebra 2 Homework 89
Period ©
5 Which function's graph has a period of 8 and reaches a maximum height of 1 if at lecst one
full perigaic graphed? —
P /9‘_\3'“ UJ _Z_IC
1 | = - - -
( ) y--4:n{lz]-3 withg ? }!‘ y=-4cos(8x) -3 & o
s 2 a2
8
2) y--ﬁ:ns(%x]q-s 41" A y=-4cos(8x)+ 5

o 1
. Min o max ‘?_ a (ye
2. The height above ground for a person riding a Ferris wheel after t seconds is modeled Y
L.g
hit) = 1509!"[4—5“’ 67.5| + 160 feet. How many seconds does it take to go from the bottom of the wheel
—_
to the top of the wheel?

=B =
ve (B (e Daw b= B L g

3. Tides are a periodic rise and fall of ocean water. On a typical dey at a seaport, to predict the fime
of the next high tide, the most important value to have would be the

@ime between consecutive low 3) average depth of water over a 24-
tides hour period
2) time when the tide height is 20 feet 4) difference between the water
heights at low and high tide
4. The temperature, in degrees Fahrenheit, in Times Square during a day in August can be
predicted by the function T(x) = § sin(0.3x - 3) + 74, where x is the number of hours after midnight.
According to this model, the predicted temperature, to the nearest degree Fahrenheit, at 7 P.M. is

) e 274 @77 4 8l 7PN“"7(X? \Cﬁ‘) ”
pd T(18) =€ em (13 (9-3)F
WW = 97,414

5. The average monthly temperature of a city can be modeled by a cosine graph. Melissa has
been living in Phoenix, Arizona, where the average annual temperature is 75°F. She would like to
move, and live in a location where the average annual temperature is 62°F. When examining the
graphs of ihe average monthly temperatures for various locations, Melissa should focus on the

1) Amplitude 3) Period

2) horizontal shift Midine

Feb 6-7:08 PM
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6. A person's lung capacity can be modeled by the function C(t) = 250 Sm[—-f

function over one full cycle, and explain what this value represents.

ol = 250 +ays0 < 2700 M

| 1
2700 L T Nl
The function fix) = acosbx+ ¢ is plotted on the graph shown below.

1 - (0

L

7

what are the values of a, b, and ¢?

a=2b=6c=3 3) a=4,b=6c=5
2) am2,b=3c=1 4) T
4-4,5-3,6-3

3 ]4— 2450, where C(f)
represents the volume in mL present in the lungs after t seconds. State the maximum value of this

l-%\t).,\_uﬂmlr; DJ.)\/V\R Cf;'-‘n{\ L,\&{J e Neeonl 55-
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ver the domain [0, 2a] on the set of axes below.

Yool = T/

0,3,°:3:%

=) 1-11'1*‘1"&2_
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In-Class Review ANSWERS:

2 8. 7.3 inches 14.
[-1, 3] 9. -2 a. 15
2in2m  10. 3 b. -35

T M50=3s Y &7
¢ 12,77, secords :55’_'51]
. See graph 13, £(0)= 3eos (Fx) +4 f_' 1m_
E8’8J g. 8right

h. 20 down

15.

a. 10 ft.

b. 6 ft.

c. 2

d. 8up

e. 12 hrs.

f. 112

g.1m/6

h. @)= -2cos(FEH
i. 6.1ft

Feb 6-7:30 PM
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Review Key SOz Asin(wx) ¥K
Change function!

For questions 1 to 6, use the equation f(X) = -2sin(2x) + 1

1) Find the amplitude. My 1)g27

2) Find the range. T—-;—“_a 2)4&1’73]

nan |
3) Find the frequency. 3. T7
4) Find the period. 4)L
w/

5) Find the x-scale. 5)‘#

Feb 6-7:25 PM

6) Graph the equatlon in the |nte|‘ Conina [ O ~| O, [
5ine<01,0-1, 0
(o |c)-—lo )+k
"l(Ol 0"0\'\'( = (J,"“),%‘I ) E-"/ -Sj
T -3

/
X 3 ) 2 L L L -A

Feb 6-7:25 PM
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14) Describe the graph for f(x) =15cos(2na(x - E‘g}
a) amplitude = ,5 _
b) minimum =i T‘)“S
¢) maximum = =S “)‘O
&) range  =_]=3S,~S 1 [W'\,"\“’Kl -35
o frequeney - _|__or S5
f) period = |
g) phase shift = Z [ .‘;@C
h) vertical shift = 20 4
Feb 6-7:26 PM

hours past noon and y is the height of the tide in feet,

\™

Height

(in feet)

Time past noon (hours)

15) The tide at a boat dock can be modelled by the following graph.

t t= ghe number of

oS SN

Feb 6-7:27 PM
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a. What is the maximum water depth? /O \C+

b. What is the minimum water depth? lrg E‘é

e. What is the period? I&

f. What is the frequency? EN

Q= (D i —
g. What iS|r::)|? %% \)\ 12:19::‘::”_ ‘ﬂ/é = W
T 6

(%Nhat is the function of the height of the tid shown in the djagram above?
Y= 2ol ZTE) 1%
J-\ (€= -X(oL % "=,

@){ What would be the height of the fide, to the neareg tenth Jat 11:30 PM?
_—

Vg 123 /130 7™M

- I.5
Sonsd) w6l {eet

c. What is the amplitude? = ,A ( ;\— E A_—’

d. What is the vertical shift (midline)? Y &/P > k=

Feb 6-7:28 PM

71 What Is the range for f{x) = & sinfx) ? 71 L_ 8‘ 3 i

&) The motion of an cbject can be modeled by the equation ), 7 ' 3
filx) =2,3 5in {zx) + 5, where % represents the number of seconds the
objec’is oscillating and‘: i the distance, in inches, of the height of

the offject. What Is the mum height of the obpect?
- 423 th=Th3A

9) TFF(x) = 5 + 7 sin(x), what is the minimum value of the function? 9 NE
) \
510
10} Which graph has an amplibude of 5 and a period of = 7 10
. }w ,' _ 2l .
/A']/y=gm5(4¥] 2) y=5sin[4n) 72

@v—ssm[zx; 4 y-scos| Ly
L4

Feb 6-7:33 PM
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11} ‘Write the aquation of the function represented by the graph below:
» 4+ =B e0s{ 5 )U

arigs e=3
lw' . |'é 217

2 S

12) The vokage E of an altemating cumert electrical circuit can be 12) ,f
represented by the funcion E(Ey = 6601 tos (4t), where E is
frgasuned in volts and tis measured in seconds, How long does
It take the afternating current b complete one full cuoe? -}—E,\' I"i!
ven = 14T 12 EC

Feb 6-7:33 PM

13} The felowing graph represents the vertical transiation of 2 hesic mgonometric cure.
Write an equation of the transisted graph,  Show all work,

=3 P tQ.;.p'h.f?,

>y
il
i, Bo
<
[}
=
S

14) Describe the graph for 1[x] = 1 5cos(2n(x - 8)] - 20.
a) amplitude = :’l_‘_i
) minmem = /5 A0 =35
€] maximum = -'“5 A0 =5
Ornge - 35,75 |
&) frequency = AMen 27 = / (wf =7
f) period = l
g) phase shit = E’.‘f Tl'c) .EJ"
h} vertical shift = Datarn ere

Feb 6-7:33 PM
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15) The tide at a boat dock can be modelled by the following graph.  Let b= the number of
haurs past noon and y Is the height of the tide in feet.

a. What is the maximurm water depth?

b. What is the minimum water degth?

. What i the amplitude?

. What is the vertical shift (midline)?

& What is the period?

. What Is the frequency?

. What is the |if?

h. Winat is the function of the height of the tide, (), as shown in the diagram above?
()= ~2cos [FL)TE

i, What would be the height of the tide, to the nearest tenth, at 11:30 PM?

s |
2)1.5) = -ates(E ) = (.| {6?‘
."'.. R{iajm--l--mwh)

Feb 6-7:34 PM
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